Lattice Multiplication (G)

Use lattice multiplication to find each product.

1 2 4 6 2 7 17
1 6
2 2
8 8
5 7
1246 x 1285 = 2717 x 6287 =
3 3 6 2 6 3 4 4
6 8
7 6
6 3
9 3
3362 x 6769 = 6344 x 8633 =
1 4 4 0 6 1 8 9
9 7
7 9
3 4
6 9
1440 x 9736 = 6189 x 7949 =
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

1 2 4 6 2 7 1 7
00 T0o /10 A L T4 10 T4 ) 6
o, 11 2 4, 6 I 2 2 6, 2
010 10 1t A, o 1 0 A1 7,
i, 2 4, 8, 2 1N, 4, 4 0 4
0 T 5 4 A5 10 715 7 4
o, 8, 6, 2 38 o, 6 6,8, 6
0 T 2 15 ] s 114 10 A4 7 4
o, s,/ 0, 0, 0 8, 4, 91, 9
I 1 1 0 T 7 7 9
1246 x 1285 = 1,601,110 2717 x 6287 = 17,081,779
3 3 6 2 6 3 4 4
LT3 1 ] 6 2 T2 T3 T3 ) g
o, 8, 8, 6, 2 s, 8l 4, 0 0
2 12 4 A1 A 3 AT 2 2 6
o, 1,1 0 4 a6l 8l 4l 4
LT AT A 6 L0 1 1 7] 5
11,88, 6, 2 11,8, 9 2 2
> M2 5 T 7 L0 1 1 /] 5
s, 7,1, 4, 8 o,/ 8l 9 2 2
7 3 7 8 7 7 5 2
3362 x 6769 = 22.757.378 6344 x 8633 = 54.767.752
1 4 4 0 6 1 8 9
0 T3 1310 ¢ 4 10 5 16 /) 4
1,9, 6, 6, 0 a2 1, 6, 3
012 /12 10 7 4 5 07 18 7
a1, 8,8, 0 o, a9, 01
0 1T AT 0 7 4 2 10 13 13 7 4
o, 3, 2 20 a4, 2 6
0 12 12 710 7 6 5 07 18 7
16, 4, 4, 0 o A 9 2 1
9 8 4 0 6 3 6 I
1440 x 9736 = 14,019,840 6189 x 7949 = 49,196,361
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